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100%! (2.54) 2.15%1.35 1.43—1.72 1.87 2.27 2.96—4.47
120%! (3.05) 2.58x1.62 1.73—2.09 2.25 2.74 3.57—5.38
150%! (3.81) 3.23x2.02 217—-2.65 2.83 3.44 4.48—6.74
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80%! (2.03) 1.72x1.08 3.36—4.42 4.36—5.57 5.48—10.14 10.09—17.46
100%! (2.54) 2.15%1.35 4.22—555 5.48—6.99 6.88—12.71 12.66—21.88
120%! (3.05) 2.58%1.62 5.09—6.68 6.60—8.41 8.29—15.28 15.23—26.30
150%! (3.81) 3.23x2.02 6.38—8.38 8.29—10.55 10.40—19.14 19.10—32.93
200% (5.08) 4.31x2.69 8.55—11.20 11.09—14.10 13.92—25.57 25.53—43.99
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VPLL-Z4007 L =0.014835xD—0.0584 L =0.018573xD—0.1354
VPLL-FM22 L =0.0192xD—0.0524 -
VPLL-4008 L =0.0234xD—0.0777 -
VPLL-Z4011 L = 0.0303xD—0.0739 L = 0.0454XD—0.0651
VPLL-Z4015 L = 0.0433xD—0.1100 L = 0.0565xD—0.1029
VPLL-Z4019 L =0.0561xD—0.1260 L =0.0711xD—0.1200
VPLL-Z4025 L =0.0704XD—0.1611 L =0.1286xD—0.1510
VPLL-Z4045 L =0.1287xD—0.2160 L =0.2211xD—0.2269
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VS+=VS-=15—2.500 X (HS+ HL<Ix HS-) [%]
HS+=HS-=6—0.400 X (VS+ BL<IE VS-) [%]

41% VS+=VS-=41—2.158 X (HS+ 6L <I$ HS-) [%]
v HS+= HS-=19—0.463 X (VS+ 6L <IF VS-) [%]

VS+=VS-=110—1.930 X (HS+ L <IE HS-) [%]
v HS+= HS-=57—0.518 X (VS+ L <IF VS-) [%]

VS+=VS-=109—1.912 X (HS+ B L<IE HS-) [%]
v HS+= HS-=57—0.523 X (VS+ L <l VS-) [%]

1113%

VS+=VS-=113—1.794 X (HS+ L <& HS-) [%]
HS+=HS-=63—0.558 X (VS+ $L<Id VS-) [%]
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